D@ RPE BB A R AR ML ES
KT AT EEFRE )\ RSBUERETR ML R L

PR AR A (U fafx “2A®”) T 2018 4 12 A 17
HEH S EE S8 RSB 1B ARSI E F, FATA G T AR
SHERE, MR CAFNED . GEFHIERD) (BT A E BBCHIE B2 (ALK
E RIS & S35 8 5 AL TR (O THE BT A m) g ar b S 3 i
FERHE SR CRYINESRAE 5 Bra VAU 52 B gy QARYINEZR2E 2 Biril
W T AR ETR 51D Sl FUTE SO B 17 fe R4 4 A A
AMRAF TR (D@ BB S AR A BR A W s 2 5 TARRIRE ) 1A M
SE, WA R RFDUR R S MALE .

=~ KT 2016 FBABIGH T PR HE B i BRI 5 % B B i B S TR
SR,

1. A#] 2016 FBACHE R B AR iR E45, BT 1 2R TR
i) Ve s SR U R B A N R R S HR, A B Ul R BEa%, Hidth 270 44 Tl A
B IRAVE SR U R BRI G AR

2 A% 2016 G AR TR Bl il e GBS R R R BT S (T A
AL BRI RD S n ] (2016 FEBALE T (FESO) BAHSGHE, A=
AT 2016 SERBCRURN T RS20,  AFEAERTE 2 7] S AR BR Rl 2
e A A 2t A5 DL o

BRltE, AT - EF XA R 2016 S ACHTHRI BTSSR xSRI
HEAATHE,

= RTEIMHEH 2016 SEBACRURTHRIFTIEER 2 PR P B R U B
.

1. P 1 A4 900RE 35 3 R R B SR Ao R RS N KT ER, - AN R % il
XFRGAE, WRIEAT (2016 FEBBHEhTHR CFZO) B, HEHFSR
SERT 144 T EA 45 T R 1k B S U S R L3RR AEL v A 80 ) 100 JIE PR 1l 4 e St



AT, I Y%y 3.645 T/

2. ARUIRHIVERER BIEEH T &~ 7 (2016 SEAABCHETHRI (50D, (L
A B AU E BLIME) S84 SRR EAUE,, RIZILA 7] SR AR )
K

o

Rk, BeAll— R 2 w1x 2016 A7 A Sl 8 7 BR i 5 i S22t AT [l
.

=. KT 2016 FBAUBIRhTHRIT R T 50 58— MTBUH/ SR T U #
PR BB ISR R

1. AFFFE CEifiam BB E M%) K (2016 FReplimm itk (5
) R T S BB THRI S, 2 ) A St oA - P 2 A B
RKA (2016 F A TR (FE5O) FHLE BB ZABAT I .

2. TRER TR 5 WX G TR 432 3 PR A R R ZR 1 270 2 bt 5
36 A2 (2016 = BB THRI (BRSO FE RIAT Bt ok 1, FLAE 9 7] 2016
SBT3 S BR A B SR R sl o B EAR B S A AR

3. 7] 2016 SEAACHU X AUl R A SRR AT R HE (RLARATAL
WIBR . ATBUERAE ATRU % . AT R S0 KRR SR B s HE (R
TR TR Rl (BNMLARME SRS % 5350 8 5 ReAlis
TR BT A B RGBS BEINE) A SRR ERIELE, RIZILA ]
e N NI Fa

ZrREPTR, B BRE I T IR 5 A% Pl ox G i 3% - PR 4 e
SR 270 A4l 3T RAE 22 R 2016 SRR TR E BT 45 T B R A i
SREER — MT RO U A AT U fE B

(BAFEIEID



(WREIEX, A (LTRRMEEABRGFRATMILEFRRT A S
NEEFE /RS VAHERFHHIBOLEL) Z5E T

WL EFHL T

PhER TR EE

—O—/N\#$+=HA+tH





